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Answer1l

Expand and simplify  (x + 4)(x + 6)
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Answer 2

Expand and simplify (x=5(x+3)
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Answer 3

Expand and simplify (y m
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Answer 4

Expand and simplify (p + 9)(p —4)
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Answer 5

Expand and simplify (m + 3)(m + 10)
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Answer 6
Expand and simplify (y/;)(<12\ 5)
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Answer 7

Expand and simplify (2x + 3)(x — 8)
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Answer 8

Expand and simplify (27— 3)( + 5)
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Answer 9

Expand and simplif aﬁ;t |
p plify ( é/)

2a(a) + a(-1) + 5(2a) +5(-1)
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Answer 10
Expand and simplify 2x+ D(x—4)
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Answer 11
Expand  3y(dy —3)
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Answer 12

Expand and simplify  (w — 5)?
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Answer 13

. Show that

(Gx— D(x+ 5)(@dx —3) =12 +47x2 — 62x + 15

for all values of x.
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Answer 14

Expand and simplify (3&/—;_2@1“2};)
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Answer 15
Expand and simplify 4x(x + 3) — (2x — 3)*
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